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PN efficiency in the routine phase: Revs 2001 to 2800

Scheduled Science : 92690 ks
Performed Science : 88780 ks
180000 m 180000
o S
o = @ °
S 2 S o Sa b
S 3 5 8 om =]
160000 o =~ 55 32 5 160000
2 g = b o =3 c
: s 3 : : = :
G o z = e L2 s
140000 - |——| I 140000
| | I | | 1l i ! I ‘ ! | I
. 1 I I'I1 [ | Ill |
120000 - —||-— —h --|— _‘Ih - b 1§ IRLRR RN 8 10 | §220000
' , I ' |
‘I Tl |‘ I . "| [
100000 - - “ LA | ; : - Lo - 100000
| |
| | I
80000 - - - 80000
60000 - | - 60000
40000 - - 40000
20000 - - 20000
0 e — ; e e e T — 0
N ISR A CI S G IR S ST S S0 SR A A SN SIS SIS G RSP LG L LG O, L G L L I LS P i
R D ESHENE DR S A s SR LN S S S Al S L Sl S

REV #

Performed Science

I Solar Flares

[ G/S Problem

I Inst Problem

I Support other S/C

I S/C Problem

Science Win




